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7.1 Recitation Exercises

1. Verify the following identities:

sin x+cosx

——————=sinxcosx
secx+cscx
1 1
b) + =2secx
secx+tanx secx—tanx
cos?x+tan? x—1 2
) — = tan®x
sSin<x

2. If A=2sin?(2x) + 2cos?(2x) and B = 3[sec?(—x) — tan?(—x)] find A + B.

sinx + cscx cos®x + 1
3. If

= Asecx + B tan x, find the value of A + B.

secx cscx —tanx

sin @ cos @

4. If a = and B =

1-cot 1-tan

then a+ f =

A) sinf + cos®f.
B) sinf — cos®.
C) secO +csch.
D) secf —csch.

E) tan@ + coté.
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7.2 Recitation Exercises

1. Find the value of:
a) sin(—15").

b) cos (B—n)

12

¢ tan (17—”)

12

tan 70 +cot10°
1—tan 80° cot20°

d)

2. Verify the following identities:

a) cot(x +y) — cotx coty -1

cotx +coty

b) sin(%n+9)+cos(37n—9) = —sinf — cos @

3. If aand f are two angles in standard position with sina = %, where

% <a<m and cosf = I—:, where m< f < 3;” . Then the terminal side of
(a + B) is in the quadrant(s):

A) I B) 11 O Iv D) lorll E) Il orlll

4. Graph the following function:

f(x) = cos 2x + V3 sin 2x
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7.3 Recitation Exercises

1. Verify the following identities:

a) tan (g) + cos x tan (g) = sinx

1+sin 2x

1
=1 +Esecxcscx

b)

sin 2x

2
2. fA=1+cos4x and B = (1_?:; x) , then AB =
A) sin?x.
B) sin?2x.
Q) %sin2 2x.
D) %sin2 4x.
E) lcos?x.
2
3. tan [—Sin_l(_%)] =
2
1 1
A) 3 B) -3 O 3 D) -3 E) -
. N
4. sin [Zcos (— E)] =
A = B — 0 = D) = E) =

25 24 24 25 7
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7.4 & 7.5 Recitation Exercises

1. Solve the following equations:
a) 2sin*6 —3sinf—2=0, 6 € [0, 2m).

b) sin20 + cos8 =0, 6 € [0, %n)

c) tan%—sin@ =0, 8 €[—m, m.

2. Find all the solutions of the equation

sinxtanx —tanx +sinx =1, 0 € [0,2n).

3. Find the sum of all the solutions of the equation

2cosfcos360 + 2sinfsin30 =—2, 6 € [0, g]

4. The sum of all solution(s) of the equation sinx = cos (g) in the interval
3w\ .
[0.5) is

A) B) 3w o = D) = E) —

5. The number of solution(s) of secx — V3 cscx =secx cscx, 0<x <2, is

A 1 B) 2 O 3 D) 4 E) 5



